Making Decision: Consumers, firms, government

Rational/ consumer: maximizing satisfaction subjected to his or her constraint
(budget)

preference {FiF

consumption space
commodity set
commodity space

We consider the consumption bundles with only two goods, X,Y, quantities: X,y
A consumption bundle is an order pair(x,y)

F'igure6 : Consumption bundle
S={(xy) | x=0,y=0}
a consumption bundle(CHZ&4H5): (X,y) € S
(consumption basket, commodity bundle, commodity basket)



(A1) Completeness S
XL, Y1) ES (X2, ¥2) €S
one and only one of the following must be true
1. (X1, Y1) > (X2, Y2)
2. (X2, Y2) > (X1, Y1) > is preferred to
3. (X1, Y1)~ (X2, ¥2) ~ is indifferent to
(A2) Reflexivity [z &%
X Y)€ES (X1, Y1)~ (X1, y1)
(A3) Transitivity ¥k - ERE
(XL Y1) €S (X2, ¥2) €S (X3, ¥3) €S
® (X1, Y1) > (X2, Y2), (X2, Y2) > (X3, Y3)
—sthen (Xq, Y1) > (X3, Y3)
2 (X1, Y1)~ (X2, Y2), (X2, Y2) ~ (X3, ¥3)
— (X1, Y1)~ (X3, ¥a)
8 (X1, Y1) > (X2, Y2), (X2, Y2) ~ (X3, Y3)
—(X1, Y1) > (X3, ¥a)
& (X1, Y1)~ (X2, ¥2), (X2, Y2) > (X3, Y3)
—(X1, Y1) > (X3, ¥a)
(ad) Continuity HZ& M
(X1, Y1) €S (X2, ¥2) €S (X3, ¥3) €S
(X1, Y1) > (X2, y2), for any (Xs, ys) is very close to (X2, y2)
—then (X1, Y1) > (X3, Y3)
With (Al)-(a4), 5% Indifference curve 5 HH4R
Let (x1, Y1) €S,
IC(x1, y2)={(x, ¥) / (X, y) ~(x1, y1), forall (x,y) € S }
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F igure9 : Bliss point (point c)

Suppose IC; & IC; intersect at a,
we know a & b are on IC;— a~b
anda&careonlIC,—a~c
(A3) Transitivity — b~c¢C
However, b & c are not on the same indifference curve,
Therefore, b & ¢ can’t indifferent to each other which contradicts with the
previous b~c relationship.

(a5) Monotonicity nonsatiation 114



More is better, no bliss point.

XL, Y1) ES (X2, ¥2) €S

X1=>X2, Y122Y2 and (X1, Y1)#(X2, Y2)
(A5) rules out the followings:

1. Dliss point

2. belt shape indifference curve
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F igurel0 : Belt shape indifference curve

we can always find a bundle (X2, y») such that x,>x1, y,=>y: and

(X2, Y2)#(X1, Y1)
— (X2, ¥2) > (X1, Y1)
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F igurel2 : Downward sloping indifference curve



a—b:x1,y]

slopezg <0 —Marginal rate of substitution between X and Y, MRS,y
MRS,y= | % | =- % (on an indifference curve given a level of satisfaction)

d
Ax—0  MRSy=- d—z | ic

(A6) Diminishing MRS,y

xT, yl(X substitutes for Y)

MRS,y — Indifference curve is convex
— Law of diminishing MRS,y

(A7) Differentiability = {534

Smooth indifference curve (no kinks)

MRS,y at a is not well defined.

>

a

F'igurel3 : indifference curve with kinks

negative slope

—slope = MRSy

Convex ( MRS,y diminishing)

Indifference curves to the northeast represent higher levels of satisfaction
Indifference curves never intersect
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casel. X (6-pack,6 cans) and Y(box, 24cans) are perfect substitutes
IC Ry E 4%
X: nb. of 6-pack’s



y: nb. of 24-can boxes

_1 , MRSxyzl
Ax 4 4

F igurel4 : Perfect substitute preference

case2. X (cups of coffee) and Y(packs of sugar) are perfect complements
IC & LAY

¥

F'igurel5 : Perfect complement preference
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F'igurel? : Indifference curve represented by different type of goods



